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8. In the context of operating systems, an interrupt occurs when:

A. the disk drive has just completed reading data from the disk.
B. the CPU is performing instructions for a program.
C. the telephone rings and the user gets up from the computer to answer it.
D. the operating system has just allocated the CPU to a program.
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9. All of the following may be stored in registers except:
A. program instructions.
B. memory addresses.
C. data.
D. the CPU’s instruction set.
10, Consider a CPU that operates at 1.5 GHz. How long does it take to perform the average
machine cycle?
A. 1.5 picoseconds
B. 0.67 nanoseconds
C. 1.5 nanoseconds

D. 30 nanoseconds
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—B CEEERFAIT:

int sub(int n)

{

inti=1,x=0;

while (i<=n)

{
X=Xx+1;
1=1+1;

}

return(x);

}
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